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Note : Answer all questions. The figures in the right-
hand margin indicate marks.
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The age of father 10 years ago was thnce the

age of his son, Ten years hence father’s age
will be twice that of his son. Find their

present ages.
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frfafas Y@ YHE §FE S AEE
Tgfa ¥ & *ifwg:
gidq FifSg 1 Z=20x, +10x,
Afywam Ffs ;. Z=20x, +10x,
St Poxp+2xy < 40
3x,+x, 230
4x, +3x, 2 60
ad1 X}, X, 2 0
Solve the following linear programming
problem by graphic method : -
Minimize : Z=20x;+10x,
Maximize : Z=20x,+10x,

Such that : x,+2x; < 40
3xl +x, > 30
4x, +3x, 2 60
and X, Xy 2 0
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2. (a) GYUE FRUT F FeEd @ WA TG
'ﬁﬁﬂ{:
25.25%0.00345 x (345)°
J(405.26)
Find out the value with the help of log
tables :
25.25x0.00345 x (345)?
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(b) T Wt ga FE @ A I
Hife 7
246.3x32.93
(1.237)

Find the value of the following applying
logarithms :

246.3x/32.93
(1.237)
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find AB and BA.
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A certain sum at simple interest becomes
¥ 1,200 in 2 years and ¥ 1,300 in 3 years.

Find the principal and rate of interst per
annum.
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A man decided to deposits ¥ 500 at the end
of each year in a bank which pays 8% per
annum compound interest. If the instalments
are allowed to accumulate, what will be the

total accumulation at the end of 7 years ?
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A shopkeeper advertises the cash price of a
sewing machine as ¥ 850, The same
machine can also be purchased by
depositing ¥ 160 at once and the balance in

8 monthly equaly instalment of ¥ 90. Find
the rate of interest.
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A sum of ¥ 2,000 becomes 2205 @

5% Per annum compound interest. Find
the time.
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In a competitive examination there are
four subjects and all carry  equal
maximum marks. A candidates marks are
in the proportion of 3:4:6:7 and his
aggregate of marks is 60% of full marks.
In how many subjects did he get more
than 50% marks ?
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The average salary per head of the entire
staff in an office, including officers and
the clerks is ¥ 900. The average salary
of the officers is ¥ 6,000 and that of the
clerks is ¥ 840. If the number of officers

is 12, find the number of clerks in the
office.
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If 6 men and 10 boys complete a work
in 4 days and 4 men and 10 boys can
complete the same work in 5 days, then

calculate in how many days the same
work will be done by 2 men and 5 boys ?
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Due to a rise of 30% in railway fare the

number of passengers goes down by 30%.

FInd the percentage increase or decrease
in income.
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A publisher gives to his agent a fixed
amount per year plus a fixed percent on
the orders received. He paid ¥ 3,970 in
1996 and ¥ 4,330 in 1997. Find the fixed

amount given per year and the rate
percent of commission. The amount of
orders received in 1996 and 1997 was

respectively ¥ 36,000 and ¥ 42,000.
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A treader bought 60 pens for ¥ 450. On
selling 30 pens, there is a loss worth the
selling price of 5 pens. Find out the
selling price of each pen.
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Varun Traders writes the price on his

goods in such a way that even after
allowing 25% discount to the customer
he gains 20%. Find the marked price on

a good on which his gain is ¥ 6?
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A publisher supplies 22 copies for every
20 copies of the book ordered and also
allow a cash discount of 10%. What is
the net rate of discount to the buyer ?
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